## ROBERT EHMET HAYES & ASSOCIATES, PLLC

## **ARCHITECTS**

2512 DIXIE HIGHWAY, COVINGTON (Ft. Mitchell), KENTUCKY 41017-3094

859-331-3121

RYAN THOMAS FICKE

Fax: 859-331-3332 reh@reharchitects.com

www.reharchitects.com

ROBERT EHMET HAYES (1961-2009) MICHAEL BRENT BISHOP R. EHMET HAYES JOSEPH AHRENS HAYES

August 23, 2017

VIA EMAIL AND USPS

To: Mr. Ron Kinmon, Director of Student Services

Dayton Independent Schools

RE: <u>Dayton High School - Renovations and Additions</u>

REH #168-815 / BG #16-114

Enclosures: 1. Application and Certificate for Payment No. 9 on referenced Project,

submitted by Leo J. Brielmaier Co.

Action

Required: 1. Review application.

2. Obtain Board approval.

3. Issue payment to Contractor

Ehrnet Hayes

EH: bam

APPLICATION AND CERTIFICA	TION FOR PAY	WENI	AIA DOCUMENT C	<i>i702</i> p	PAGE ONE OF SIX	PAGES
TO OWNER: Dayton Independent Board of Educa	Project: Da	yton High School	APPLICATION NO	): 9	Dist	tribution to:
200 Clay Street	Re	nvations and Addition	ıs			OWNER
Dayton Kentucky 41074	200	Greendevil Lane				ARCHITECT
•	Da	yton, Ky 41074	PERIOD TO:	8/11/2017		CONTRACTOR
FROM CONTRACTOR:	VIA ARCHITECT: Ro	bert Ehmet Hayes &				7
Leo J. Brielmaier Co.		sociates, PLLC Archit	tects			7
P.O. Box 32250		12 Dixie Highway	PROJECT NOS:	REH#168-815	5	
Cincinnati, Oh 45232		t Mitchell, Ky 41017				
CONTRACT FOR:			CONTRACT DATE	E: 42661		
CONTRACTOR'S APPLICATION Application is made for payment, as shown below, in continuation Sheet, AIA Document G703, is attached.  1. ORIGINAL CONTRACT SUM		1,352,700.00	the Contractor for Work for payments received from the	Work covered by the ith the Contract Do which previous (	Application of Per	innent has been prints to the state of this prints to the state of the state of this prints to the state of the state
<ol> <li>Net change by Change Orders</li> <li>CONTRACT SUM TO DATE (Line 1 ± 2)</li> <li>TOTAL COMPLETED &amp; STORED TO         DATE (Column G on G703)     </li> <li>RETAINAGE:</li> </ol>	\$ 	23,864.00 1,376,564.00 1,376,564.00	CONTRACTOR:  By: In   B.	Mu	D 01-65 Date	e:
a. 10 % of Completed Work \$  (Column D + E on G703)  b. 10 % of Stored Material \$  (Column F on G703)  Total Retainage (Lines 5a + 5b or	69,238		State of: Subscribed and sworn to be Notary Public: My Commission expres:	06-05	-2021	
Total in Column I of G703)	\$	69,238.00	ARCHITECT'S			
<ol> <li>TOTAL EARNED LESS RETAINAGE         (Line 4 Less Line 5 Total)</li> <li>LESS PREVIOUS CERTIFICATES FOR         PAYMENT (Line 6 from prior Certificate)</li> <li>CURRENT PAYMENT DUE</li> <li>BALANCE TO FINISH, INCLUDING RETAINAGE         (Line 3 less Line 6)</li> </ol>	\$ \$ \$	1,307,326.00 1,222,393.00 84,933.00 69,238.00	In accordance with the Concomprising the application, Architect's knowledge, inforthe quality of the Work is it is entitled to payment of the AMOUNT CERTIFIED	the Architect certi- formation and belied accordance with AMOUNT CERT	ifies to the Owner that of the Work has progres the Contract Documen	to the best of the ssed as indicated,
CHANGE ORDER SUMMARY	ADDITIONS L	DEDUCTIONS				olied. Initial all figures on this
Total changes approved	<b>#0.00</b>	40.00	Application and on the Com	tinuation Sheet the	ıt are changed to conf	form with the amount certified.)
in previous months by Owner  Total approved this Month	\$0.00 \$23,864.00	\$0.00 \$0.00	ARCHITECT:  By	. Ehmet Hay	7es Dat	e: 8/23/17
TOTALS	\$23,864.00	\$0.00	This Certificate is not negot	niable. The AMOI	UNT CERTIFIED is p	payable only to the
NET CHANGES by Change Order	\$23,864.00	\$0.00	Contractor named herein. Is prejudice to any rights of the	ssuance, payment a	and acceptance of pays	ment are without

AIA DOCUMENT G702 · APPLICATION AND CERTIFICATION FOR PAYMENT · 1992 EDITION · AIA · @1992

THE AMERICAN INSTITUTE OF ARCHITECTS, 1735 NEW YORK AVE., N.W., WASHINGTON, DC 20006-5292

Page 2 of 2 Pages

ATTACHMENT TO PAY APPLICATION

PROJECT:

Dayton High School Renovations and Additions

APPLICATION NUMBER:

9

APPLICATION DATE:

08/14/17

PERIOD TO: 11-Aug-17

ARCHITECT'S PROJECT NO: REH168-815

Α	В	С	D	Е	F	G		Н	I
Item	Description of Work	Scheduled	Work Co	mpleted	Materials	Total ·	%	Balance	Retainage
No.		Value	From Previous	This Period	Presently	Completed	(G/C)	To Finish	
			Application		Stored	And Stored		(C - G)	:
			(D + E)		(Not In	To Date			
					D or E)	(D + E + F)	1000/		0.050.00
1	Bond & Insurance	45,000.00	45,000.00			45,000.00	100%		2,250.00
2	Mobilization	10,000.00	10,000.00			10,000.00	100%		500.00
3	Selective Demolition	65,852.00	65,852.00			65,852.00	100%		6,387.24
4	Cast In Place Concrete	45,000.00	45,000.00			45,000.00	100%		3,375.00
5	Masonry	81,000.00	81,000.00			81,000.00	100%		8,019.00
6	Structural Steel	86,135.00	86,134.40	0.60		86,135.00	100%		1,922.70
7	Rough Carpentry	65,360.00	65,360.00			65,360.00	100%		3,663.78
8	Thermal Insulation	7,800.00	7,800.00			7,800.00	100%		390.00
9	Formed Wall Panels	19,000.00	11,400.00	7,600.00		19,000.00	100%		950.00
10	Roofing	42,076.00	35,764.60	6,311.40		42,076.00	100%		841.52
11	Joint Sealant	6,000.00	6,000.00			6,000.00	100%		60.00
12	Hollow Metal Doors & Hardwar	54,605.00	54,605.00			54,605.00	100%		2,730.25
13	Aluminum Doors and Windows	101,190.00	96,130.60	5,059.40		101,190.00			1,011.90
14	Drywali	65,433.00	65,433.00			65,433.00	10%		3,271.65
15	Tiling	10,000.00	10,000.00			10,000.00	100%		100.00
16	Acoustical Ceilings	10,900.00	10,573.00	327.00		10,900.00	10%		109.00
17	Resilient Tile	25,000.00	25,000.00			25,000.00	100%		250.00
18	Carpet	28,000.00	25,200.00	2,800.00		28,000.00	100%		280.00
19	Painting	15,950.00	15,152.50	797.50		15,950.00	100%		398.75
20	Visual Display Boards	2,749.00	274.90	2,474.10		2,749.00	100%		27.49
21	Display Cases	8,000.00	8,000.00			8,000.00	100%		80.00
22	Plaques	1,500.00	1,500.00			1,500.00	100%		15.00
23	Dimensional Letters	10,000.00	1,000.00	9,000.00		10,000.00	100%		100.00
24	Toilet Accessories	1,000.00	1,000.00			1,000.00	100%		10.00
25	Fire Extinguishers	250.00	250.00			250.00	100%		2.50
26	Flagpole	5,000.00	5,000.00			5,000.00	100%		50.00
27	Casework	40,000.00	40,000.00			40,000.00	100%		400.00
28	Site Clearing	4,000.00	4,000.00			4,000.00	100%		400.00
	SUBTOTALS PAGE 2	856,800.00	822,430.00	34,370.00		856,800.00	100%		35,355.49

Page 3 of 2 Pages

ATTACHMENT TO PAY APPLICATION

PROJECT:

Dayton High School Renovations and Additions

APPLICATION NUMBER:

9

APPLICATION DATE:

08/14/17

PERIOD TO: 11-Aug-17

ARCHITECT'S PROJECT NO: REH#168-815

Α	В	С	D	E	F	G		Н	l
ltem	Description of Work	Scheduled	Work Co	ompleted	Materials	Total	%	Balance	Retainage
No.		Value	From Previous	This Period	Presently	Completed	(G/C)	To Finish	
			Application		Stored	And Stored		(C - G)	
			(D + E)		(Not In	To Date			
					D or E)	(D + E + F)			
29	Seeding	7,000.00		7,000.00		7,000.00	100%		350.00
30	Storm Drainage	42,000.00	42,000.00			42,000.00	100%		4,200.00
31	Fire Suppression	13,000.00	13,000.00		:	13,000.00	100%		325.00
32	Plumbing	40,000.00	40,000.00			40,000.00	100%		3,600.00
33	HVAC	110,000.00	110,000.00			110,000.00	100%		8,540.01
34	Electric	283,900.00	262,598.00	21,302.00		283,900.00	100%		15,614.50
35	Change Order #1	23,864.00		23,864.00		23,864.00	100%		1,193.20
36		·		·		·			
37									
38							·		
39									
40									
41									
42									
43							}		
44									
45									
46									
47									
48									
49									
50									
51									
52									
53									
1						•			
54									
55									
56							10-01		
<u> </u>	SUBTOTALS PAGE 3	1,376,564.00	1,290,028.00	86,536.00		1,376,564.00	100%		69,238.00

## CONTRACTOR AFFIDAVIT & CONDITIONAL WAIVER & RELEASE OF LIENS

Leo J. Brielmaier Co. hereinafter (contractor) having a contract with (Owner) Dayton Independent Board of Education for the work of (Project) Dayton High School Renovations and Additions(Address)200 Greendevil Lane Dayton, Ky 41074 whereof (Owner) Leo J. Brielmaier Co. is or was the Owner, part Owner, or lessee, has performed work and/or furnished materials, equipment and/or machinery or has fabricated materials especially for the project.

	ne names of every person furnishing machinery, material or fuel to said Subcontractor, giving the
Name	hem. If all material is paid in full, please state as such.  Amount Due
Paid To Date	
<u>Labor</u> Said affiant further says that the following shows the is due, or to become due, to them. If all labor is pai	names of every unpaid laborer in the employ of said Subcontractor, giving the amount, if any, which d in full, please state as such.
Name	Amount Due
Paid To Date	\$
Name Paid To Date	hem. If all Subcontractors are paid in full or if none are contracted, please state as such.  Amount Due
or General Contractor on account of work performed furnished to the Owner to the extent of the payment I, Leo J. Brielmaier III being President of Leo J. B statement.  X May Signature	ch it is drawn, contractor waives and releases all rights to liens and claims against the Owner, Project, dor for materials, equipment and/or machinery, or for especially fabricated materials for the project, received.  Strick of the project, or for especially fabricated materials for especially fabricated materials for especially fabricated materials for especially fabricated materials for especially fabricated materi
State of: 0H10  County of: Namilton	Subscribed & sworm to before me this 15 day of, 20
	Notary Public ////